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Nome: Data: Punteggio:
9349, 6 x 0.0001 = 1608, 7 x 0.0001 =
7903,3 x 0.001 = 1166, 6 % 0.01 =
6522,5 % 0.001 = 1367,5 % 0.0001 =
5064 x 0.01 = 7595,1x0.01 =
9002, 1 x 0.0001 = 8609, 6 x 0.0001 =
9755,5 % 0.0001 = 6345, 9 x 0.0001 =
9997,5 % 0.0001 = 7947, 1 % 0.001 =
9228 x 0.0001 = 9551,6 % 0.01 =
8696, 8 X 0.0001 = 8647, 1 % 0.0001 =
1178,9 % 0.0001 = 6529,3 x 0.01 =
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Moltiplica i decimali per potenze negative di dieci

Nome:

9349, 6 x 0.0001 = 0.93496

7903,3 x 0.001 = 7.9033

6522,5 % 0.001 = 6.5225

5064 x 0.01 = 50.64

9002, 1 x 0.0001 = 0.90021

9755,5 % 0.0001 = 0.97555

9997,5 % 0.0001 = 0.99975

9228 x 0.0001 = 0.9228

8696, 8 x 0.0001 = 0.86968

1178,9 % 0.0001 = 0.11789

Data: Punteggio:

1608, 7 x 0.0001 = 0.16087

1166, 6 x 0.01 = 11.666

1367,5 % 0.0001 = 0.13675

7595,1 x0.01 =75.951

8609, 6 x 0.0001 = 0.86096

6345,9 x 0.0001 = 0.63459

7947,1 x0.001 =7.9471

9551,6 x 0.01 =95.516

8647,1 % 0.0001 = 0.86471

6529,3 x 0.01 = 65.293
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